Confidence interval

The estimated proportion plus or minus its margin of error is called a confidence interval for the true
proportion. The 95% confidence for a proportion is given by:
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Where 7 is the sample size, p is the population proportion and p is the sample proportion.
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We can state with 95% confidence that the true population, p, lies inside this interval. What this
means is that if the same population was surveyed on numerous occasions and the confidence interval
was calculated, then about 95% of these confidence intervals would contain the true proportion and
about 5% of these confidence intervals would not contain the true proportion.

The end points of the 95% confidence are given by P £ 19603
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It is worth noting that when p (or p instead of p if p is unknown) is close to %, a good approximation

to the margin of error, at the 95% confidence level, is given by E = zg, = s
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